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#HW 10 Hrudai Battini
with(LinearAlgebra):
#1 
#X=0 is always a fixed point of the equation x(n) = x(n-1)/(x
(n-1)+c) as this simplfied to x = x/x+c and solving for the fixed
#points returns x = 0 and 1-c. The stable fixed point takes the 
derivative of x(n) which equals 1/(x+c) + x/(x+c)^2. For x=0 to 
#be a stable fixed point, |1/c| < 1. Therfore c is greater than 1
or less than negative 1. For 1-c, c>1 but less than 3.  
#2
a := linalg[matrix](2,2,[-16/3*0.3,5*0.6,-7*0.3,13/2*0.6]);
evalm(a^1000);

b := linalg[matrix](2,2,[92/3*0.3,-25*0.6,-105/2*0.3,89/2*0.6]); 
#Osciallates Unstable
evalm(b^1000);

c := linalg[matrix](2,2,[-177/4*0.3,75/2*0.6,-105/2*0.3,89/2*0.6]
);
evalm(c^1000);




